$$x(z) : 1 + az^{-1} + a^{2}z^{-2} + a^{3}z^{-3} + \cdots$$

$$= \sum_{n=0}^{\infty} x(n)z^{-n}$$

$$x(z) = \sum_{n=0}^{\infty} a^{n}z^{-n}$$

$$\Rightarrow x(n) = a^{n}u(n)$$

× Z-transform proberties

1 Linearity

$$X[n] \stackrel{z}{=} X(z), Roc = Rx$$

$$X[n] \stackrel{z}{=} X_1(z), Roc = Rx_1$$

$$X_2[n] \stackrel{z}{=} X_2(z), Roc = Rx_2$$

$$X_1[n] + b \times Z[n] \stackrel{z}{=} a \times X_1(z) + b \times Z(z)$$

$$Roc = Rx_1 \cap Rx_2$$

STUDENTS-HUB.com

86

Uploaded By: Malak Obaid

2- Time shifting

X(z) Z-no

ROC = Rx (except for possible addition or deletion of Z:0 01 Z:0)

[xamples let X(Z) = 1/4 , 121 > 1/4

from Roc [121>1/4] XEn] 15 right-sided sequence

X(E)- Z-1 12/7/4

using the proporties  $\chi(z)$ :  $z^{-1}\left(\frac{1}{1-1/4z^{-1}}\right) \iff \chi(n-no)$ 

$$\times [n] = (14)^{n-1} + [n-1]$$

OR

$$\frac{-4z'+1}{50x(z)} = -4 + \frac{4}{1-4z'}$$

STUDENTS-HUB.com

Uploaded By: Malak Obaid

Evaluate KEN)

$$x(z) = z^{2}(1 - 1/2z^{-1})(1 + z^{-1})(1 - z^{-1})$$

$$= z^{2}(1 - 1/2z^{-1})(1 - z^{-2})$$

$$= z^{2}(1 - 2^{-2} - 1/2z^{-1} + 1/2z^{-3})$$

$$= z^{2} - 1/2z - 1 + 1/2z^{-1}$$
using shifting property
$$x(n) = 1 \cdot S(n+2) - 1/2 \cdot S(n+1) - S(n) + 1/2 \cdot S(n-1)$$

3- Multiplying be exponential sequence  $X(Tr) \stackrel{Z}{\Longleftrightarrow} X(Z)$ 

$$= \times \left(\frac{z}{z_0}\right)^n$$

 $\frac{dx(z)}{dz} : \frac{-1(\alpha z^{-2})}{1 + \alpha z^{-1}}$   $+x(x) \stackrel{z}{\rightleftharpoons} z \stackrel{dx(z)}{=} : -2\left(-\frac{\alpha z^{-2}}{1 + \alpha z^{-1}}\right)$   $= \alpha z^{-1}$ 

STUDENTS-HUB.com

Uploaded By: Malak Obaid

$$n \times (n) = O((-a)^{n-1} u (n-1)$$

$$\times (n) = O((-a)^{n-1} u (n-1)$$

$$= (-1)^{n-1} (a)^n u (n-1)$$

Example = XEn) = nanuEn), evaluate X(Z)

$$\chi(z) = -2 \frac{d}{dz} \left( \frac{1}{1 - az_1} \right)$$

$$= -2 \left( -az_1^{-2} \right)$$

$$= -2 \left( -az_1^{-2} \right)$$

$$N = \frac{\alpha^{n} u(n)}{(1-\alpha z^{-1})^{2}}$$

5-Conjugate of a Complex sequences-

6- Time Reversal &

$$X(n) \in \mathbb{Z} \rightarrow X(\mathbb{Z})$$

$$X(n) \in \mathbb{Z} \rightarrow X^*(\mathbb{Z})$$

$$X(\mathbb{Z}^1)$$

$$Roc = \frac{1}{Rx}$$
 and inverted

Example: X(n) = anu(-n)

Evaluate X(x)

$$a''u[n] = \frac{1}{1-az'}$$

$$a''u[n] = \frac{1}{1-az'}$$

$$a''u[n] = \frac{1}{1-a'z'}$$

$$a''u[n] = \frac{1}{1-a'z'}$$

 $|\mathcal{Z}| < \alpha^{-1}$   $|\mathcal{Z}| = \frac{1}{R_{\star}} \cdot R^{-1}$ Uploaded By: Malak Obaid

STUDENTS-HUB.com

7- Convolution Sequence

ROC Contains Ray ( Roce

$$= \sum_{k=0}^{\infty} \sum_{n=-\infty}^{\infty} \chi_1(k) \chi_2(n-k) Z^{-n}$$

$$= \sum_{k=-\infty}^{\infty} \chi_{1}(k) \sum_{k=-\infty}^{\infty} \chi_{2}(n-k) Z^{-n}$$

$$= \sum_{k=-\infty}^{\infty} \chi_{1}(k) \sum_{k=-\infty}^{\infty} \chi_{2}(n-k) Z^{-n}$$

$$\sum_{k=-\infty}^{\infty} \chi_{1}(k) \sum_{m=-\infty}^{\infty} \chi_{2}(m) \stackrel{-(m+k)}{Z}$$

$$= \sum_{k=-\infty}^{\infty} \chi_{1}(k) \left(\sum_{m=-\infty}^{\infty} \chi_{2}(m) \stackrel{-(m+k)}{Z}\right) \stackrel{-(m+k)}{Z}$$

$$= \sum_{k=0}^{\infty} \chi_{1}(k) = \sum_{k=0}^{\infty} \chi_{2}(m) = \sum_{k=0}^{\infty} \chi_{1}(k) = \sum_{k=0}^{\infty} \chi_{2}(m) = \sum_{k=0}^{\infty} \chi_{1}(k) = \sum_{k=0}^{\infty} \chi_{2}(m) = \sum_{k=0}^{\infty} \chi_{2}($$

Examples XIEN] = quutn] and Xen] = 4[n]

Evaluate YEN] = XIEN] \* XzEN]

$$X_1(z) = \frac{1}{1-az^1}$$
 $|z| > q$ 

$$\sqrt{(z)} = \frac{1}{(1-az')(1-z')}$$
 $\sqrt{(z)} = \frac{1}{1-az'}$ 
 $\sqrt{(z)} = \frac{1}{1-az'}$ 
 $\sqrt{(z)} = \frac{1}{1-az'}$ 
 $\sqrt{(z)} = \frac{1}{1-az'}$ 
 $\sqrt{(z)} = \frac{1}{1-az'}$ 

8- Initial value theorem